THE GAUHATI HIGH COURT AT GUWAHATI
(The High Court of Assam, Nagaland, Mizoram and Arunachal Pradesh)

Written Examination (OMR based Objective Type Question with Multiple Choices) for
direct recruitment of DUFTRY for the Judicial Academy, Assam.

Duration: 90 Minutes

Total Marks: 50+20= 70
Date: 26.06.2022 (Sunday) Time: 10 A.M. to 11.30 A.M.
[Each Question carries 1 mark. There IS no negative marking]

Choose the correct word/number from the given options:

1 Which of the following tests is used for the diagnosis of colour-Blindness in people?

A Ishihara test B Widal test C ELISAtest D Rorschach test
2  L.P.G is a hydrocarbon consisting of a mixture of:-
A Methane and B Propane and C Ethaneand D Ethane and Butane
Butane butane Propane

3  “Smart Money” is a term used for

A Internet banking B Credit Cards C Cash with D Cash with bank
- public
4  What is the animal on the insignia of the RBI?
A Lion B Tiger C Panther D Elephant
5  What is the shortest day in the year?
A 1% January B 21% March C 23"%Septem D 22" December
' ber

6 What is the total area of Assam?
A 78,430 squarekm B 78,432 square km C 78,438 D 78,448 square km
square km

7  When was treaty of Yandaboo signed?

A 1826 B 1726 C 1871 D 1926
8 The President of India is:
A The head of B The head of State C The head of D None of these
Government state as well
as
government

9  What is the name of the instrument that measures the speed of wind?
A Lactometer B Hydrometer C Anemometer D None of these
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10  In which category did Lovlina Borgohain win the bronze medal at the Tokyo Olympics?

A Heavyweight B Middleweight C Welterweight D Lightweight
11 Africa continent is In the world.
A 1% largest B 2"argest C 3%argest D 4%largest
12 Which was the first movie directed by Bhupen Hazarika?
A Era bator Sur B Pratidhwani C Chameli D Aranya
Memsaab

Choose the correct alternatives from the given options:

13 We accused him............... forgery.
A For B about C o D Of
14 The shepherd was looking after the..........oo oo of sheep.
A Crew B gang C fleet D Flock
15 I .this novel since January.
A Wrote B Have written C Havebeen D None of these
writing
16 My brother is not at home:; he.............ocooo . out.
A Goes ' B Is going C Has gone D Had going
17 L. to London last year.
A Have gone B gone C went D Had gone
18 He said to me, “"Where are you going?”
A He asked me B He asked me C He asked D All correct
where are you where I was me where ia
going going. am going
19 Which of the following words is correctly spelt?
A Pedestrean B Pedestrian C Padestrian D Pedistrian
20 Red-letter day
A A colourful day B Fatal day C Happyand D Hopeless day
significant
day
21 Select the correct antonyms of ALIEN. _
A Native B domicile C natural D Resident
22 Select the correct Synonyms of RAVAGE.
A Destroy B Break C Demolish D Abolish
23 You don't play the piano,................... ?
A Isn'tit B Don't you C Doesntit D Do you
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24

25

26

27
28
29

30

31

32

33

34

35

36

37

COW liVES.....ccooemvmnrarnss grass.

A On B of C in D With

Pointing to lady Simon said, vGhe is the daughter of the only sister of my father.”

How is lady related to Simon?

A Mother B Aunt D Cousin sister

1f the numbers from 5 to 70 which are exactly divisible by 5 are arranged in descending
order, which would come at the ninth place from the bottom?

A 30 B 50 C 45 D 25
Jaya is 32 years older than her daughter, Maya. The sum of their age is 42. How old is Maya?
A 5 B 6 C 42 D 37
What will be 40% of a number whose 200% Is 907
A 18 B 36 C 16 D 45
The number which is nearest to 3105 and exactly divisible by 21 1s....
A 3100 B 3105 C 3108 D 4108
The like fraction of 5_is.......7
8

A 5 B 6 C 8 D 6_

4 8 5 10
11 cakes cost Rs.121. How much is the cost of 5 cakes?
A Rs.55 B Rs.65 C Rs.75 D Rs.40

A factory produces 200 bottles of jam in a day. If each bottle weights 750gm, what is the
total weight of the bottles? '
A 100kg B 150kg

C 200kg D 250Kg

A man started walking from a point toward south. He turned right at right angles, then he
again turned right at right angles. Ultimately in which direction was he walking?
A East B West C North D South

1f a room is called bed, bed is called window, window is called ﬂower, and flower is called '

- grass, on what would a man sleep?

A Window B Bed C flower D Room

Ajoy is the brother of the son of Saikia’s son. What is the relationship of Ajoy with Saikia?
A Brother B Cousin C Nephew D Grandson

Find out the missing word.

Strain: Train, Stable:...?

A Able B Bales C Table D Label

‘Paddy’ is related to ‘Field’. In the same way ‘Gteel’ is related to....?

A Iron B Ore C Mine D Factory
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38
39
40
41
42
43

44

45

46
47
"
49

50

Which has same relation as the pair of words in the following:- eg. Water:Drink
A  Light: Night B Teach: Student C Air: Breathe D Food: Hunger

A Running B Sneaker

C Skateboard D Jumping
Look at this series: F2,

, D8, C16, B32. What number should fill the blank?
A Al6 B '

C E4 D E3

G4

Which is the odd one?

A Zulus

C Catholics

B Maoris ' D Rabhas

Which is odd one?

A Bishop B8 Khnight C Minister
Which is the missing number in the sequence 2, 3,5,7, 11,.......... 17, 19.

A 16 B 15 C 14

A, B, Centerinto a partnership investing Rs.35,000, Rs.45,000 and Rs.55,000 respectively.
The share of B in an annual profit of Rs.40,500 is............ ?

A Rs.10,500 B Rs.13,500 C Rs.16,500 D None of these

A] B B] C C] A D] E

sequence in which they occur in the dictionary.

B 12534 C 34125

1. Hinge  2.Homely 3
A 34152

D 31425

Select the related letters

=1=CtL 1€ related letters from the given alternatives.
RVLP : SWMQ : : GLKP : ?
A HQLM B HMST C HMLQ D FKSQ
Select the related letters from the given alternatives.

BF: GK: LP: ?

A JK B QU C VW D

RQ

Insert the missing number. 12,25,49,99,197,395,

A 789 B 812 C 1579 D 722

Find out the odd one. 1,3,9,12,19,29
A 01 | B 03 C 09 D 12
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514 937 T 4 qaET T2 S & @A?

a) I c) 8=ig

b) o TH d) SIS

52 FTA-FET AT (87

a)d9 9T c) T (SN

b) FANF T (T T[S d) a1 AT JJAT AFR
53 53 5a%T 1A [&72

a) AtAT TF c) Afs FINF

b) (TP ©F (W¥T (FFAET d) T3 S

b) ((REAT d) srERfImE

(Q. Nos. 61 to 62) Frafafis TwTEa S7JF IeTH q7fer SfATS -

61 gfTeT

a) 1@t ‘ c) FI
b) Bt | d) 3R
62 Jfrat

a) farm c) Jat
b) fags D EISE]

(Q. Nos. 63 to 64) frfafire Tenrza Xf3% fadls 1= J1= Sfermra®-

63 34
a) ST c) I&F

b) fa=yst d) I
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64 g

a) Ryg - c) fsif

b) Be§ d) T%

65 ITICH foraT- « fipgs »

a) T c) Frafams

b) Frgs3s d) Fresmns

66 fa3e for forar - « wsgg »

a) Safs c) T3

b) St d) Sergel

67 SIF 15T AT - « T + 35 »

a) af¥ C) 7R3

b) A=W d) TEY

68 25T T5® TFT FIF - « {7 (516 T BT »

a) ST ¢) TEET

b) TP d) 8799 B8 %y

69 FIIT AEFS T™WIST FIT STRNLTT 7 F5?

a) TN c) RF®

b) &t d) (e

70 ' (2 (o (SfAAT * $79 T5aT?

a) (T Y c) ftaser Iawte

b) 99F® IFGY d) 3ET SEERf
---------- 1 $.0.0.0.0.6 ¢ ¢ ¢ Cmm—
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